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EDUCATION

Paper : EDU-HC-4026
( Educational Statistics )
( Honours Core )

Full Marks : 60

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer/Fill in the blanks of the following
(any seve_n) ; 1x7=7
e frcas Tew  fm/@ R cRa w9
(R e Areht) -

fa) Write a definition of statistics.

o{f &1 R BT A faram |

(b) is the most frequently occurring
score in a distribution.

a3 Rereee TfEe pRRie @ AT (2
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c) is a figure which indicates how
( many times a specific score repeats
itself in a given class interval.

B W, fw @ @b o
e STt Fif < TR e AR
foc ¥

(d) Round off the following number to two
decimals :

@o SR Y1 PIRE FHL S (round
off) ¥91 :
97-82556

(e) What other name can be used in place
e

of QY axis?"

oY S S S 6 A EER IR AR 2

onditions,
er normal ¢ g
i) Uniesents its group in the most reliable

rep

manner.

Frelfee (R, ¢ % MRS 02 47 v+

1 ST St Féaarre R Fw

(g The word ‘standard deviation” was
coined by ;
‘Standard deviation’ wagol 9 oI
<ffee |
23 ( Continued )
22A/11

(3)

) mdans interrelationship between
: two or more variables.

— I tR 72 A1 ereifie “ARedRy i
31 SFRIMR A9 @ |

(i) Normal probability curve is
shaped.

AT SR I ST |
() The curve that is more peaked than

normal probability curve is a
curve.

W%@@Wﬁ*ﬂf@ﬁf@f@@(ﬂ
T

2. Answer any four of the following questions -

2X4=-..8
OO RPIRS R e BIRR S fiy -
(@) Mention two advantages of frequency
distribution table.

TR ST e 151 /41 Seae <oy |

(b) Write two advantages of central
tendency.
FE eTOR 101 ARy faysy |
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(&)

) What is the formula to calculate median
e from ungrouped data, if data are even?

m@aﬁwwﬁma@cﬁﬁm,mﬁm@
iR R I A

(d) Write two uses of mean.

o 01 TR e

(e) The median and mode of a distribution
are 2825 and 2555 respectively. Find
out the mean.

@A @4 RemE RE W I A
TRECN 2825 H® 25-55 | M6 T Tfeped |

() Find the mode from the following
SCOTeS :

@ﬁ:ﬂﬁﬁﬂ{éﬁﬁﬁtaﬁﬁ¢%ﬁ%@m:
10, 15, 10, 18, 19, 18, 20, 22

(g) Inatest the mean of marks for a group
of 50 students is 50 and that on the
same test the mean for another group of
30 students is 60. Find the combined
mean of these two groups.

Q@ O AR @61 s0mAm PrwEe 7o
TR TS WK 50 R GrFol ARAwee =
<1 30%ART Freda v W s e 60 !
7 O IR AT o Tfete |
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(5)

v

=12-18, fi
value of Q. ind the

I Q, =86
: 37 WF Q=12-18 37
%ﬁ@m, y QI TN

3.
Answer any three of the following questions

S5x3=15
O APIRI R e e T i

fa) Mention five characteristics of mean

W%WW?W|

(b)  Write five general principles of drawing a
graph.

;::ﬁa WFTS GRE @A SO0 e
I

(c) Write about the drawing procedure of
frequency polygon.

RO RGO R[S S0 fora |

(d) Calculate average deviation from the

following scores :

WWW%%W@@':

20, 18, 42, 46, 50, 64, 75
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(6) (7))

Find out the standard deviation of the QDRI ey o R B IR T

(=2 50, RAGR 5 T 227 60 G

o ARPTE 7RI A R Sfie : TR = 6 FrelEd weew T R
2’37

8,9, 10, Wy 125 13734 1S

(e)

following scores :

4. A : .
() Ranking of 7 students in two subjects X niswer any three of the following questions :
and Y are as follows : 10x3=30
©
7 & Prelic R X ST® VS o 11 22 O 2P R e fofba e R -
oS fil 4T (@) Find out mean from the following
3 1 A B YRS RO . distribution :
R R R TR S ey b SR O] ReTeeR 1 1% fAefg 41 :
Find out the coefficient of correlation )
between the marks of subject X and Class interval i deany
subject Y by rank difference method. 1 o7 e
4549 2
B 19 Mo R X oF Y3 939 5w
B Fefa 0 1 o 3
35-39 2
(g) Mention five characteristics of normal 30-34 6
probability curve. . 25-29 8
SPTIF SFBIRST 964 <1001 (8] TCay 741 | 20-24 8
15-19 7
(h) In a class test, a student has secured 10-14 5
50 marks. The mean of the group is 60
and standard deviation is 6. What is the 59 2
percentile rank of the student? N=50
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(8)

Draw a histogram from the following
table (use graph paper) :
=g SIFRE A4 ey GBl SE P (¢

(b)

o TR ) ©
Class interval Frequency
1T ST BISISIE
85-89 8
30-84 9
75-79 10
T0-74 S
65-69 8
60-64 4
55-59 3 fe)
50-54 9
N=56
(c) Find out standard deviation of the
following distribution by using long
method :
wq o o[ T mie IR SR e
fapife foefy 1 :
Cldss interval Frequency
1 ST LERER
30-34 2
25-29 2
20-24 6
15-19 8
10-14 2
N=120
22A/1123 ( Contied )] ~2A/1123

k,

(9)

(d) Find out quartile deviation from the

following distribution :

O RSTer “R1 Spee Rpifs S -
Class interval Frequency
I SFqrE 1759997
35-39 g
30-34 5
25-29 6
20-24 10
15-19 8
10-14
N =40

Find out P, and Pjs of the following
distribution table :

R RS O [l Py S Psq WH
Tl :

Class interval Frequency
1 S 5T

50-54

45-49

4044

35-39

30-34

25-29

20-24

15-19

10-14

O\Dmﬂmmc\wmm

N=5
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(10 ) (11

() Find out the percentile rank of 24 and

(h) The percentile rank of a student is 80 in
55 of the following distribution table :

a test in English. The mean is 50 with
standard deviation 7. What is the k
o IAERS] [oEH OfFR Rl 24 it

secured by the student?
55 S *FORNE T Sfered :
A& B R abre RO @ Frd
Class interval Frequency QORI P ¥H (2R 80, FreTie 2
1 ST IR TR TS T (KR 50 WE e Rpfe 7
- = PreTRtoRISIc e 751 “1i3fRe 2
70-79 1
60-69 1 * % %
50-59 2
40-49 5
30-39 4
20-29 3
10-19 2
N=20

(g) Compute the coefficient of correlation by

product moment method between the
given two sets of scores :

BT T e ems S T PR AR
TRATE BT Sferaq
X

: 65 60 50 40 30 20 80
Y

- 50 55 80 90 8 79 77
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